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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] vU;Fkk 

ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA ÁR;sd 

Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj lgh gSA ftl 

mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. ANSWER SHEET) 
esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA ;fn fdlh ijh{kkFkhZ }kjk 

fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy fd;s x;s ÁFker% ;Fkk fufnZ”V 

Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus gSaA 

mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh i”̀B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj 

ysaA 
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1. Treaties of START-I and START-II were signed-  
(A)   Between America and soviet  union 
(B) Between America and china  
(C) Between Soviet union and china  
(D) Between European Union and America  

 1. LVkVZ& I ,oa LVkVZ& II laf/k;ka gLrk{kfjr dh xbZ& 
(A) vesfjdk o lksfo;r la?k ds e/; 
(B) vesfjdk o phu ds e/; 
(C) lksfo;r la?k o phu ds e/; 
(D) ;wjksfi;u ;wfu;u o vesfjdk ds e/; 

2. Where is west phalia located? 
(A)   France  
(B) Germany  
(C) Britain  
(D) Netherlands 

 2. osLVQsfy;k dgk¡ fLFkr gS\ 
(A) Ýkal  
(B) teZuh 
(C) fczVsu 
(D) uhnjyS.M 

3. Marshal Plan is related with. 
(A)   Reconstruction in European economy  
(B) Expantion in American Military power  
(C) Expantion in Chineese communism  
(D) Strategy of soviet union against the America     

 3. Ekk’kZy ;kstuk fdlls lacaf/kr gS\ 
(A) ;wjksih; vFkZO;oLFkkvksa ds iqufuekZ.k esa  
(B) vesfjdk dks lSU; ‘kfDr ds foLrkj esa  
(C) phuh lkE;oknh  izlkj esa  
(D) lksfo;r la?k dh vesfjdk ds fo:) j.kuhfr esa  

4. ‘Diego Garcia’ is a marine Centre of America. 
Where it is located? 
(A)   Indian Ocean  
(B) Pacific Ocean  
(C) Baltic Sea  
(D) Atlantic Ocean    

 4. ^fM;kxks xkflZ;k* vesfjdk dk ukS lSfud dsUnz gSA ;g dgk¡ fLFkr gS\ 
(A) fgUn egklkxj 
(B) iz’kkUr egklkxj 
(C) ckfYVd lkxj 
(D) vVykafVd egklkxj 

5. Where is the Headquarter of the European 
organization of Nuclear Research (CERN)? 
(A)   London  
(B) Geneva  
(C) New York  
(D) Paris    

 5. ;wjksih; ukfHkdh; vuqla/kku laxBu (CERN) dk eq[;ky; dgk¡ fLFkr gS\ 
(A) yanu 
(B) tsusok 
(C) U;w;kdZ 
(D)  isfjl 

6. Which of the following is not element of 
liberalization? 
(A)   Deregulation  
(B) Debureau cratisation 
(C) Disinvestment  
(D) Statisation  

 6. fuEufyf[kr esa ls dkSu mnkjhdj.k dk rRo ugha gS\ 
(A) fufofu;e 
(B) fo&ukSdj’kkghdj.k 
(C) vifu;kstu 
(D) LVsVhls’ku 

7. The Soviet union was disolved in: 
(A)   1989 
(B) 1990 
(C) 1991 
(D) 1992 

 7. lksfo;r la?k dk fo?kVu gqvk Fkk& 
(A) 1989 
(B) 1990 
(C) 1991 
(D) 1992 

8. The proposal no 144 (NOV.2002) of Security council 
is related with? 
(A)   Involvement of U.N.O  in Somalia. 
(B) Execute the flight prohibited area in Bosnia  
(C) Provide the security to Kudish in Iraq.  
(D) Restricted to Saddam Hussian. 

 8. 
 
 

lqj{kk ifj”kn ds izLrko la[;k 144 uoEcj ¼2002½ dk lEcU/k fdlls gS\ 
(A) lksekfy;k esa ;w-,u- dh lafyIrrk  
(B) cksfLu;k esa mMku fuf”k) {ks= ykxw djuk 
(C) mRrjh bZjkd esa dqnksZ dks lqj{kk iznku djuk 
(D) ln~nke gqlSu dks izfrcfU/kr djuk 

9. Which of the following theories related with 
Morgenthau’s realistic theory?  
(i)  Stable and unchangable human nature is in 

root of politics 
(ii) Self-interest is a basic element in human 

existence  
(iii) Use of force is only a part of foreign policy  
(A) All are correct  
(B)     (i) & (iv) 
(C)    (i) & (ii) 
(D)   (ii) & (iv) 

 9. fuEufyf[kr esa ls dkSu&dkSu ls fl)kUr ekxsZU;w }kjk izfrikfnr 
;FkkFkZoknh fl)kUrksa ds vUrxZr vkrs gSa\ 
(i) LFkk;h vkSj vifjorZuh; ekuo&izÑfr ds ewy esa 

jktuhfr fLFkr gksrh gS 
(ii) ekuo vfLrRo esa Lofgr vk/kkjHkwr rRo 
(iii) cy iz;ksx dsoy fons’k uhfr dk vax gSA 
(A) lHkh lgh gS 
(B)     (i) ,oa (iv) 
(C)    (i) ,oa (ii) 
(D)   (ii) ,oa (iv) 
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10. Which of the following countries contained in 
Asian Plus three? 
(A)   China, India, Japan  
(B) China, South Korea, India  
(C)    Japan, South Korea, India  
(D) China, Japan, South Korea   

 10. fuEufyf[kr esa ls dkSu ls ns’k ,f’k;u Iyl Fkzh esa lekfo”V 
fd, x;s gSa\ 
(A) phu] Hkkjr] tkiku 
(B) phu] nf{k.k dksfj;k] Hkkjr 
(C) tkiku] nf{k.k dksfj;k] Hkkjr 
(D) phu] tkiku] nf{k.k dksfj;k 

11. First summit of non Alignment were Organized 
at? 
(A)   New Delhi  
(B) Islamabad  
(C) Belgrade 
(D) Thimpu 

 11. izFke xqVfujis{k f’k[kj lEesyu vk;ksftr gqvk Fkk\ 
(A) ubZ fnYyh esa  
(B) bLykekckn esa  
(C) csyxzsM esa  
(D) fFkEiw esa  

12. In which convention of united Nation general 
assembly in 1 may 1974 New International 
economic order (NIEO) were declared to 
established?  
(A)   Third  
(B) Sixth 
(C) Ninth  
(D) Twelfth 

 12. la;qDr jk”Vª egklHkk dk dkSu lk vf/kos’ku Fkk ftlesa 1 ebZ 
1974 dks ubZ vUrjkZ”Vªh; vFkZO;oLFkk (NIEO) LFkkfir djus 
dh ?kks”k.kk dh\ 
(A) rhljk 
(B) NBk  
(C) ukSoka 
(D) ckjgoka 

13. Which one of the following is a tangible element 
of National power: 
(A)   Critical mass 
(B) National will 
(C) Stategic purpose 
(D) Social cohesiveness 

 13. fuEufyf[kr esa ls dkSu jk”Vªh; ‘kfDr dk ewrZ rRo gS\ 
(A) Økafrd tu lewg 
(B) jk”Vªh; ladYi 
(C) lkefjd iz;kstu 
(D) lkekftd lekaxrk 

14. Who among the following  scholars provided four 
goals of international order  
(A)   Hedley Bull 
(B)   G. Arnold 
(C) F. Butler  
(D) J. Cohen   

 14. fuEufyf[kr esa ls fdl fo}ku us vUrjkZ”Vªh; O;oLFkk ds pkj 
mn~ns’; crk, Fks&\ 
(A) gsMyh cqy 
(B) th- ,juksYM 
(C) ,Q- ckVyj 
(D) ts- dksgu 

15. Which one of the following factors is not 
associated with the cultural effects of 
globalization: 
(A)   Atomisation of societies  
(B) Relevance of Nation-State   
(C) Inter sification of capital investment. 
(D) Nuclear family unit  

 15. fuEufyf[kr esa ls dkSu lh fo’ks”krk oS’ohdj.k ds lkaLÑfrd 
izHkkoksa ls lacaf/kr ugha gS %& 
(A) lektksa dk ijekf.odhdj.k 
(B) jk”Vª jkT; dh izklafxdrk  
(C) iwath fuos’k dh rhozhdj.k 
(D) ukfHkdh; ifjokj bdkbZ 

16. The Maha kali treaty signed in 1996 facilitated to 
improve trade relations between which of the 
following two countries:  
(A)   Bangladesh and Bhutan  
(B) Nepal and Sri Lanka 
(C) India and Nepal  
(D) India and Pakistan   

 16. 1996 esa gLrk{kfjr egkdkyh laf/k us fuEufyf[kr esa ls fdu nks 
ns’kksa ds chp O;kikj laca/kksa esa lq/kkj dks lqxe cuk;k 
(A) ckaXykns’k vkSj HkwVku 
(B) usiky vkSj Jhyadk 
(C) Hkkjr vkSj usiky 
(D) Hkkjr vkSj ikfdLrku 

17. When the India became the member of united 
nations organization? 
(A)   1947 
(B) 1948 
(C) 1949 
(D) 1945 

 17. Hkkjr la;qDr jk”Vª la?k dk lnL; dc cuk\ 
(A) 1947 
(B) 1948 
(C) 1949 
(D) 1945 
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18. Under whose Indian leadership Kachativu was 
given away to Sri Lanka?  
(A)   Jawahar Lal Nehru  
(B) Lal Bahadur Shastri 
(C) Indira Gandhi  
(D) Rajeev Gandhi  

 18. fdl Hkkjrh; usrR̀o ds vUrxZr dPpkfroq Jhyadk dks ns fn;k 
x;k Fkk\ 
(A) tokgj yky usg: 
(B) yky cgknqj ‘kkL=h 
(C) bafnjk xka/kh 
(D) jktho xka/kh 

19. Name the only south east Asian    country which 
found place in G-     20: 
(A)   Singapore 
(B) Vietnam 
(C) Indonesia 
(D) Malaysia 

 19. ml ,d ek= nf{k.kiwoZ ,f’k;kbZ ns’k dk uke crkb, ftlus 
th&20 esa LFkku izkIr fd;k %& 
(A) flaxkiqj  
(B) fo;ruke 
(C) baMksusf’k;k 
(D) eysf’k;k 

20. Which person plays an important role in the 
development of liberal perspective in international 
politics- 
(A)   Thomas Hobbes  
(B) Woodro Wilson  
(C) Hans J. Morganthow 
(D) Henery Kisinger 

 20. vUrjkZ”Vªh; jktuhfr esa mnkjoknh ifjizs{; ds fodkl esa 
fuEufyf[kr esa ls dkSu egRoiw.kZ O;fDr Fks\ 
(A) Fkkel gkWCl 
(B) oqMjks foYlu 
(C) gSUl ts- ekjxsUFkkÅ 
(D) gSujh fdflUtj 

21. Identify the personality who made the declaration 
that “Earth is my mother, I am her son”   
(A)   Swami Vivekanand  
(B)    Sri Auro bindo 
(C) Mahatma Gandhi  
(D) Dalai Lama 

 21. ml egkiq:”k dks fpfUgr dhft, ftUgksaus fuEufyf[kr ?kks”k.kk 
dh Fkh fd ^^ìFoh esjh ek¡ gS vkSj eSa mldk iq= gw¡A** 
(A) Lokeh foosdkuUn 
(B) Jh vjfoUnks 
(C) egkRek xka/kh 
(D) nykbZ ykek 

22. Match them  
a Samual P. 

Huntington 
(i) Retreat of the 

state 
b Joseph (ii) World Simptoms 
c Susan strenz (iv) Clash of 

civilization 
d Emmanual valstrin (iv) Soft Power 

Code:- 
 
 
 
  
  

 a b c d 
(A) (iv) (iv) (i) (ii) 
(B) (ii) (iv) (iv) (i) 
(C) (iv) (ii) (iv) (i) 
(D) (iv) (i) (ii) (iv) 

 22. lqesfyr dhft,& 
a lSE;qvy ihŒ gafVXVu (i) jhVªhV vkQ n LVªsV 
b tkslsQ U;kbZ (ii) oYMZ flEiVEl 
c lwlu LVªsUt (iv) DyS’k vkQ flfoykbts’ku 
d beSU;qvy oSYLVªhu (iv) lk¶V ikoj 

 
dwV %&  

 
 
 
 
 

 a b c d 
(A) (iv) (iv) (i) (ii) 
(B) (ii) (iv) (iv) (i) 
(C) (iv) (ii) (iv) (i) 
(D) (iv) (i) (ii) (iv) 

23. “International politics is a large   subject and big 
social world” . Whose statement is this-   
(A)   Tomas pen  
(B) Quincy wright  
(C) E.H. Carr 
(D) C. A. W Manning  

 23. ^^vUrjkZ”Vªh; jktuhfr ,d ògr fo”k; rFkk fo’kky lkekftd 
fo’o gS**A ;g fdldk dFku gS& 
(A) Vkel isu 
(B) fDaolh jkbV 
(C) bZ-,p-dkj 
(D) lh-,-MCY;w-eSfuax 

24. Whose books is “The study of International 
Relations”? 
(A)   Morganthau 
(B)    Quincy wright 
(C) E.H.Carr 
(D) Morton Kaplan 

 24. ^n* LVMh vkWQ bUVjus’kuy fjys’kUl** fdldh jpuk gSA 
(A) ekjxsUFkkÅ 
(B) fDaolh jkbV 
(C) bZ-,p-dkj  
(D) eVZu dkIyku 
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25. Main human elements of national power is -   
(A)   Population 
(B) Technology 
(C) Ideology 
(D)    All of the above   

 25. jk"Vªh; ‘kfDr ds izeq[k ekuoh; rRo gSa& 
(A) tula[;k 
(B) rduhdh 
(C) fopkj/kkjk 
(D) mi;qZDr lHkh 

26. It is linked with “Power Approach” in international 
politics 
(A)    Morton Kaplan 
(B)  Morgenthau  
(C)  Mahendra Kumar  
(D)  E. H. Carr 

 26. vUrjkZ”Vªh; jktuhfr esa ^^’kfDr nf̀”Vdks.k** ls tqM+k gS& 
(A) eVZu dSIyku ls 
(B) ekjxsUFkkÅ ls 
(C) egsUnz dqekj ls  
(D) bZ-,p-dkj ls 

27. Term cold war acoustic with- 
(A)    Ideological disgust 
(B)  Millitary  competition  
(C)  Political mistrust 
(D)  All of the above  

 27. ‘khr ;q) ‘kCn ls /ofur gksrk gS\ 
(A) oSpkfjd ?k.̀kk 
(B) lSfud izfrLi)kZ 
(C) jktuhfrd vfo’okl 
(D) lHkh 

28. Settlement of SALT-1 signed at 
(A)   In 1972 between America and soviet union 
(B) In 1974 between America and soviet union  
(C) In 1979 between America and Britain 
(D) In 1978 between    Britain and Soviet union 

 28. lkYV&1 le>kSrk gLrk{kfjr gqvk& 
(A) 1972 esa vesfjdk o lksfo;r la?k ds chp 
(B) 1974 esa vesfjdk o lksfo;r la?k ds chp 
(C) 1979 esa vesfjdk o fczVsu ds chp 
(D) 1978 esa fczVsu o lksfo;r la?k ds chp 

29. According to Morton Kaplan No. of The models of 
International bodies are explained in International 
politics-  
(A)   Five 
(B) Four 
(C) Six 
(D)   Seven 

 29. eVZu dSIyku ds vuqlkj vUrjkZ”Vªh; O;k[;k ds fy, 
vUrjkZ”Vªh; fudk;ksa ds izfrekuksa dh la[;k gS& 
(A) ik¡p  
(B) pkj 
(C) N% 
(D) lkr 

30. Holy roman empire is example of which 
approach:  
(A)   World body type approach 
(B) Balance of power approach 
(C) Coordinative approach  
(D) Power approach    

 30. ifo= jkseu lkezkT; fdl nf̀”Vdks.k dk mnkgj.k gS\ 
(A) fo’ofudk; ijd nf̀”Vdks.k 
(B) ‘kfDr lUrqyu nf̀”Vdks.k 
(C) leUo;dkjh nf̀”Vdks.k 
(D) ‘kfDr nf̀”Vdks.k 

31. Main goal of diplomacy in the perspective of 
international politics is _ 
(A)   Defence of national interest   
(B) Defence of national integrity  
(C) Make relatiions with friends and neutralize 

to enemies 
(D) All of the above  

 31. vUrjkZ”Vªh; jktuhfr ds ifjisz{; esa dwVuhfr dk izeq[k y{; gS& 
(A) jk”Vªfgrksa dh j{kk 
(B) jkT; dh v[k.Mrk dh j{kk 
(C) fe=ksa ls lEcU/k c<+kuk rFkk ‘k=qvksa dks rVLFk djuk 
(D) mi;qZDr lHkh 

32. It is the last remedy to fulfill the National interests 
of any nation in international politics. 
(A)   War 
(B)   Diplomacy 
(C) Economic resource  
(D) none of these 

 32. vUrjkZ”Vªh; jktuhfr esa fdlh Hkh ns’k ds jk”Vªh; fgrksa dh iwfrZ 
ds fy, vfUre mik; ekuk tkrk gS % 
(A) ;q) 
(B) dwVuhfr 
(C) vkfFkZd lk/ku 
(D) mi;qZDr esa ls dksbZ ugha 

33. “Ideology and interests are mutually related in 
international politics.” Who said this idea- 
(A)   Sclichter 
(B)    Snyder and Willson  
(C)    Padellford and linkon 
(D) none of these 

 33. vUrjkZ”Vªh; jktuhfr esa fopkj/kkjk vkSj fgr ijLij lEcfU/kr 
gSa] bl fopkj dk leFkZd dkSu gS %& 
(A) ‘ykbpj 
(B) LukbMj ,oa foYlu 
(C) iSMyQksMZ ,oa fyadu 
(D) mijksDr esa ls dksbZ ugha 
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34. Which Ideologist see the international politics is 
the option of power conflict? 
(A)   Realistic  
(B) Ideolistics 
(C) Communist 
(D) Pluralist 

 34. fuEufyf[kr esa ls dkSu ls fopkjd vUrjkZ”Vªh; jktuhfr dks 
‘kfDr&la?k”kZ ds i;kZ; ds :i  esa ns[krs gSa %& 
(A) ;FkkFkZoknh 
(B) vkn’kZoknh 
(C) lkE;oknh 
(D) cgqyoknh 

35. What is the meaning of MAD in nuclear war 
policy? 
(A)   Missiles are dangerous  
(B) Mammals are doomed  
(C) Make America die  
(D) Mutually assured distruction 

 35. ukfHkdh; ;q)uhfr ds {ks= esa ,e-,-Mh- (MAD) ls D;k vfHkizk; gS\ 
(A) felkbYl vkj MsUtjl 
(B) eSeYl vkj MwEM 
(C) esd vesfjdk Mkb 
(D) E;wP;qvyh ,’;ksMZ fMLVªD’ku 

36. “War is a type of foreign policy” whose statement is this  
(A)   Carl Von Clausewitz 
(B) Napolean Bonapart 
(C) Quiney Bonapart 
(D) Hugo Clause Witz 

 36. ;g fdldk dFku gS fd ^^;q) ,d izdkj ls fons’k uhfr gSA** 
(A) dkyZ okWu DykstsfoV~t 
(B) uSiksfy;u cksukikVZ 
(C) D;wUlh jkbV 
(D) g~;wxks DykstsfoV~t 

37. By which other name nuclear non prolifiration treaty 
is known as- 
(A)   C.T.B.T 
(B) N.P.T 
(C) SALT 
(D) START 

 37. ijek.kq vizlkj lfU/k dks ,d vU; fdl uke ls tkuk tkrk gS% 
(A) lh-Vh-ch-Vh- 
(B) ,u-ih-Vh- 
(C) lkYV 
(D) LVkVZ 

38. What is SALT 
(A)   A commodity product  
(B) Trade organisation 
(C)    Regional organisation  
(D) Tactical organisation 

 38. lkYV D;k gS\ 
(A) ,d miHkksDrk oLrq 
(B) O;kikfjd laxBu 
(C) {ks=h; laxBu 
(D) lkefjd laxBu 

39. Meaning of détente is  
(A)   Decline of tension between ex competitor 
(B) New friendship between two countries  
(C) international settlement for world peace 
(D) peaceful diagnosis of struggles 

 39. ruko ‘kSfFkY; dk vFkZ gS& 
(A) iwoZ izfr}Unh ‘kfDr;ksa ds chp ruko esa deh 
(B) nks ns’kksa ds chp ubZ fe=rk 
(C) fo’o ‘kkafr ds fy, vUrjkZ”Vªh; le>kSrk 
(D) la?k”kksZ dk ‘kkfUriw.kZ funku 

40. It is the way to last the peace and Retribute  of 
war in international politics-  
(A)   Disarmament  
(B) Arms control  
(C) Collective Security  
(D) Arbitration award 

 40. vUrjkZ"Vªh; jktuhfr esa ‘kkfUr dks dk;e j[kus rFkk ;q) dk 
izfrdkj djus dk rjhdk gS& 
(A) fu% ‘kL=hdj.k 
(B) ‘kL= fu;a=.k 
(C) lkewfgd lqj{kk 
(D) iap fu.kZ; 

41. Between in which countries camp David 
settlement has been done? 
(A)   In between Russia  and America 
(B) In between America and France 
(C)     In between India and Russia  
(D) In between Russia and France 

 41. dSEi MsfoM le>kSrk fuEufyf[kr esa ls fdu ns’kksa ds chp gqvk Fkk\ 
(A) :l o vesfjdk ds chp 
(B) vesfjdk o Ýkal ds chp 
(C) Hkkjr o :l ds chp 
(D) :l vkSj Ýkal ds chp 

42. What is War saw pact? 
(A)   A economic organisation  
(B) A political organisation  
(C) A military organisation 
(D) none of these  

 42. Okkjlk iSDV gS& 
(A) ,d vkfFkZd laxBu 
(B) ,d jktuhfrd laxBu  
(C) ,d lSfud laxBu 
(D) mijksDr esa ls dksbZ ugha 
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43. Who is the propounder of Neo realism? 
(A)   Robert Tucker  
(B) Kenneth Waltz 
(C) Hans J. Morgenthou 
(D) Ernest Has   

 43. uo ;FkkFkZokn ds izfriknd dkSu gSa\ 
(A) jkcVZ Vdj 
(B) dSusFk okYV~t 
(C) gkUl ts- ekjxsUFkkÅ 
(D) vusZLV gkl 

44. By which country India’s dispute of Kala pani and susta is- 
(A)   Bangladesh 
(B) Bhutan 
(C)    Nepal 
(D) Myanmar 

 44. Hkkjr ds lkFk dkykikuh vkSj lqLrk fookn fdl ns’k ls gS& 
(A) ckaXykns’k 
(B) HkwVku 
(C) usiky 
(D) E;kaekj 

45. Idea of  Realism cruises with power and  
(A)    Security  
(B)  War 
(C)  Ideology 
(D)  National interest    

 45. ;FkkFkZokn dk fopkj ifjHkze.k djrk gS] ‘kfDr ,oa& 
(A) lqj{kk ds lkFk 
(B) ;q) ds lkFk 
(C) fopkj/kkjk ds lkFk 
(D) jk”Vªh; fgr ds lkFk 

46. Which means of the transport has been included 
in the Kaladan transport project between Indian 
and Myanmar? 
1. Roads  2. Railways 
3. Shipping 4. International water transport 
(A)   1, 2 & 3 
(B) 1, 3 & 4 
(C) 2, 3 & 4 
(D) 1, 2, 3 & 4 

 46. Hkkjr vkSj E;kaekj }kjk dyknku ifjogu ifj;kstuk esa ifjogu 
ds fuEufyf[kr esa ls dkSu ls rjhds gSa\ 
1. lM+dsa  2.  jsyos 
3. f’kfiax   4. vUrnsZ’kh; ty ifjogu 
uhps fn;s x;s dksM dk mi;ksx dj lgh mRrj pqusa-  
(A)   1, 2 vkSj 3 dsoy 
(B) 1, 3 vkSj 4 dsoy 
(C)  2, 3 vkSj 4 dsoy 
(D) 1, 2, 3 vkSj 4   

47. Who was accused in American terrorist attack? 
(A)   Asama – bin - Laden 
(B) Mohammad Umar 
(C)    Al- Jawahiri 
(D) Bagdadi 

 47. vesfjdh vkradh geys ds fy, fdls ftEesnkj ekuk x;k\ 
(A) vksslkek fcu yknsu 
(B) eksgEen mej 
(C) vy tokfgjh  
(D) cxnknh 

48. Critical theory developed out of the work of the 
following:  
(A) Chicago school 
(B) Toranto school  
(C) Frankfurt school 
(D)    Copen hagen school  

 48. fuEufyf[kr ds dk;Z esa ls leh{kkRed fl)kUr fodflr gqvk %& 
(A) f’kdkxks Ldwy 
(B) VksjkUVks Ldwy 
(C) ÝSadQVZ Ldwy 
(D) dksisugsxu Ldwy 

49. “Naturl’s objective law” is a realistic theory. it is 
expressed by - 
(A)   E.H. Carr 
(B) Morganthou 
(C) George F. Benam 
(D) Henry Kisinger 

 49. ^izÑfr dk oLrqijd dkuwu* ,d ;FkkFkZokn dk fl)kUr gS] 
ftldks vfHkO;Dr fd;k x;k gS& 
(A) bZ-,p-dkj }kjk 
(B) ek,ksUFkkÅ }kjk 
(C) tktZ ,Q- csue }kjk 
(D) gsujh fdflUtj }kjk 

50. Where was the first meeting of united nations 
organization was held ? 
(A)   Londan 
(B) New York 
(C) Paris  
(D) Berlin 

 50. la;qDr jk”Vª la?k dh izFke cSBd dgk¡ gqbZ 
(A) yanu  
(B) U;w;kdZ  
(C) isfjl  
(D) cfyZu 

51. United nation charter mainly : 
(A)   Related with completely personal human 

rights 
(B)    Related with relations between the states  
(C) Related with peace, justice, liberty and 

economic and social rights. 
(D) Rights and duties   

 51. ;qukbVsM us’ku pkVZj eq[;r%  
(A) iw.kZr% O;fDrxr ekuo vf/kdkjksa ls lEcfU/kr gSA 
(B) jkT;ksa ds chp laca/k ls lEc) gSA 
(C) ‘kkfUr] U;k;] Lora=rk vkSj vkfFkZd rFkk lkekftd 

vf/kdkjksa ls lEc) gSA 
(D) cM+h e/;e vkSj NksVh ‘kfDr;ksa ds vf/kdkj o drZO;ksa 

ds fy, gSA 
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52. What is status of balance of power in multipolar 
system? 
(A)   It’s form is general  
(B)    It’s form ends at once  
(C) It’s form is bipolar 
(D) It’s form is plural 

 52. cgq/kzqoh; fo’o O;oLFkk esa ‘kfDr lUrqyu fl)kUr dh D;k 
fLFkfr gS\ 
(A) bldk Lo:i lk/kkj.k gksrk gS 
(B) bldk Lo:i ,dne lekIr gks tkrk gS 
(C) bldk Lo:i f} /kzqoh; gksrk gS 
(D) bldk Lo:i cgqy gksrk gS 

53. The early post cold war international order was 
based on: 
(A)   Multipolar system  
(B) Bi-polar system 
(C) Uni-polar system 
(D)    Anarchy system  

 53. izkjfEHkd mRrj ‘khr;q) dkyhu vUrjkZ”Vªh; O;oLFkk vk/kkfjr 
Fkh %& 
(A) cgq/kzqoh; O;oLFkk ij 
(B) f}/kzqoh; O;oLFkk ij 
(C) ,d /kzqoh; O;oLFkk ij  
(D) vjktdrk dh O;oLFkk ij 

54. The US approach to the cold war was originally 
set out in : 
(A)    Truman Doctrine  
(B)  The Marshal Plan 
(C)  The Monroe doctrine  
(D)  The dulles doctrine  

 54. ‘khr;q) ds ;w0 ,l0 ǹf”Vdks.k dks ewy :i ls fuEu fl)kUr 
ds vuqlkj O;k[;k dh xbZ %& 
(A) VªweSu fl)kUr 
(B) ek’kZy Iyku 
(C) eksujks fl)kUr 
(D) Mysl fl)kUr 

55. “Balance power and collective security together 
as supplement and rivalry with each other” 
Whose statement is this 
(A)   Shuman 
(B) Tomas Hardy 
(C) Quincy Right 
(D) Open Hem 

 55. ^^’kfDr lUrqyu vkSj lkewfgd lqj{kk ,d gh lkFk ,d&nwljs 
ds iwjd o fojks/kh gSaA** ;g er fdldk gS\ 
(A) ‘kweka 
(B) VkWel gkMhZ 
(C) fDaolh jkbV 
(D) vksisu gse 

56. Which one of the following is related to the 
elimination of nuclear weapons?  
(A)   Brundtland commission  
(B) Canberra  commission  
(C) Jarring Mission 
(D) Oslo peace process  

 56. fuEufyf[kr esa ls dkSu lk ukfHkdh; vk;q/kksa ds mUewyu ls 
lEcfU/kr gS 
(A) czUVyS.M vk;ksx 
(B) dSucjk vk;ksx 
(C) tkfjax fe’ku 
(D) vksLyks ‘kkfUr izfØ;k 

57. Which article of united nations organization 
related with the economics power and duties of 
the states? 
(A)   Article-1  
(B) Article-32 
(C) Article-2 
(D) Article-64 

 57. la;qDr jk”Vª la?k dk dkSu vuqPNsn jkT;ksa ds vkfFkZd vf/kdkj 
,oa drZO;ksa ls lEcfU/kr gS\ 
(A) vuqPNsn&1 
(B) vuqPNsn&32 
(C) vuqPNsn&2 
(D) vuqPNsn&64 

58. First summit of non alignment countries was held at   
(A)   Belgrade 
(B)    New Delhi  
(C) Kahira  
(D)    Jakarta  

 58. 
 
 

xqVfujis{k ns’kksa dk igyk f’k[kj lEesyu lEiUu gqvk Fkk& 
(A) csyxzsM esa  
(B) ubZ fnYyh esa  
(C) dkfgjk esa  
(D) tdkrkZ esa 
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59. Policy of containment is related  
with which ideology?  
(A)   Dalles  theory  
(B)  Truman theory  
(C)  Nixon theory  
(D)  Ruzwelt theory  

 59. 
 

ifjjks/ku ¼dkUVsuesaV½ uhfr fdl er ls lEcfU/kr gS\ 
(A) MYysl fl)kUr  
(B) VªeSu fl)kUr 
(C) fuDlu fl)kUr 
(D) :tosYV fl)kUr 

60. It is a main equipment of cold war:  
(A)   Peaceful co-existence 
(B) Advertisement / propaganda  
(C) Theory of panchsheel 
(D)  Peace  and  security  

 60. ‘khr;q) dk izeq[k lk/ku gS\ 
(A) ‘kkafriw.kZ lgvfLrRo 
(B) izpkj 
(C) iap’khy ds fl)kUr 
(D) ‘kkafr vkSj lqj{kk 

61. Which one of the following is not a biological 
warfare agent? 
(A)    Bacteria 
(B)  Viruses 
(C)  Crop agents  
(D)  Tabur 

 61. fuEufyf[kr esa ls dkSu lk tSfod ;q) deZ dk dkjd ugha gS\ 
(A) cSDVhfj;k 
(B) fo”kk.kq 
(C) ‘kL;uk’kd dkjd 
(D) Vscwu 

62. Arrange the following in Chronological order 
according to their  occurances using the code 
given below: 
i. Attack on  India parliament 
ii. Attack on pentagon 
iii.  Attack on Mumbai 
iv.  Attack on Bali Island   

(A) (i) (ii) (iv) (iv) 
(B) (iv) (ii) (i) (iv) 
(C) (ii) (i) (iv) (iv) 
(D) (iv) (i) (iv) (ii) 

  

 62. fuEufyf[kr dks muds gksus ds dkykuqØe essa O;ofLFkr dhft, 
uhps fn;s dwVksa dk iz;ksx dhft,& 
i. Hkkjrh; laln ij geyk 
ii. isaUVkxu ij geyk 
iii. eqEcbZ ij geyk 
iv. ckyh f}i ij geyk 

(A) (i) (ii) (iv) (iv) 
(B) (iv) (ii) (i) (iv) 
(C) (ii) (i) (iv) (iv) 
(D) (iv) (i) (iv) (ii) 

 

63. When NATO was established?  
(A)   17 April 1948 
(B) 15 August 1950  
(C)  4 April 1949 
(D)  28 October 1952 

 63. ukVks dh LFkkikuk dc gqbZ& 
(A) 17 vizSy 1948 
(B) 15 vxLr 1950 
(C) 4 vizSy 1949 
(D) 28 vDVwcj 1952 

64. Where is the head quarter of Asian development 
bank? 
(A)   Tokyo 
(B) Bangkok 
(C) Beijing 
(D)   Manila 

 64. ,f’k;kbZ fodkl cSad dk eq[;ky; dgk¡ gS\ 
(A) VksD;ks 
(B) cSadkWd 
(C) chftax 
(D) euhyk 

65. The country which has recently joined the united 
nations as member is  
(A)  Switzerland    
(B)   Sweden  
(C)  East Timor  
(D) South Sudan  

 65. vHkh gky gh esa dkSu lk ns’k la;qDr jk”Vª dk lnL; cuk\ 
(A) LohVtjyS.M 
(B) LohMu 
(C) iwohZ rheksj 
(D) nf{k.kh lwMku 

66. Mikhael Gorbachev introduced ‘perestrokis’ and 
‘Glasnost’ in the year? 
(A)   1985 
(B) 1987 
(C) 1986 
(D) 1989   

 66. fe[kkby xkscksZpso us fdl o”kZ esa isjsLVªksbdk* o XykluksLV ‘kCnksa 
dk izfriknu fd;k\ 
(A) 1985 
(B) 1987 
(C) 1986 
(D) 1989 
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67. Who among the following authors first identified 
wars of the third kind? 
(A)   R.Dahl 
(B) Edward rice  
(C) S. Edwards  
(D) R. Falk 

 67. fuEufyf[kr esa ls fdl ys[kd us ^rhljs izdkj ds ;q)ksa dh* 
loZizFke igpku dh Fkh\ 
(A) vkj- Mgy  
(B) ,MoMZ jkbl 
(C) ,l- ,MoMZ~l 
(D) vkj- QkWd 

68. In which one of the following wars depleted 
uranium was used?  
(A)   World war-II 
(B) Gulf war-II 
(C) Iran –Iraq war 
(D) Vietnam war 

 68. fuEufyf[kr esa ls fdl ;q) esa *fMIyhVsM  ;wjsfu;e* dk mi;ksx 
fd;k x;k Fkk\ 
(A) f}rh; fo’o;q) 
(B) f}rh; [kkM+h ;q) 
(C) bZjku&bjkd ;q) 
(D) fo;ruke ;q) 

69. Where was the war saw pact organized? 
(A)   Poland 
(B) Belgrade 
(C) Moscow  
(D) Paris 

 69. okjlk iSDV dh LFkkiuk fuEufyf[kr esa ls dgk¡ gqbZ Fkh\ 
(A) iksyS.M esa  
(B) csyxzsM essa  
(C) ekLdks esa 
(D) isfjl esa 

70. How many countries are members in ASEAN- 
(A)   18  
(B) 14 
(C) 10 
(D) 12   

 70. vkfl;ku (ASEAN) esa fdrus lnL; ns’k gSa\ 
(A) 18 
(B) 14 
(C) 10 
(D) 12 

71. Which of the following is not agree with the 
central importance of the state in international 
relations? 
(A)   Pluralist 
(B) Realist 
(C) Neo- realist 
(D) Structural- realist 

 71. fuEufyf[kr esa ls dkSu vUrjkZ”Vªh; lEcU/k esa jkT; ds dsUnzh; 
egRo ij lger ugha gS\ 
(A) cgqyoknh 
(B) ;FkkFkZoknh 
(C) uo&;FkkFkZoknh 
(D) lajpukRed&;FkkFkZoknh 

72. Neo Marxist  sees in which form to the economics 
Globalization? 
(A)    Egalitarian process 
(B)  Development process 
(C)  Hierarchical process 
(D)  Enequal paramilitary process 

 72. uoekDlZoknh vkfFkZd Hkwe.Myhdj.k dks fuEufyf[kr esa ls fdlds 
:i esa ns[krs gSa\ 
(A) lerkoknh izfØ;k 
(B) fodkl izfØ;k 
(C) vf/kJsf.kd izfØ;k 
(D) vleku vf/klSfud izfØ;k 

73. Defensive realism proposes that states are 
generally more concerned with- 
(A)   Security 
(B)    Zero- sum game  
(C) Absolute gains 
(D) Relative gains  

 73. j{kkRed ;FkkFkZokn esa jkT; izk;% bl ckr ds izfr lrdZ jgrs gSa 
(A) lqj{kk 
(B) thjks&le xse 
(C) iw.kZ&izkfIr;k¡ 
(D) lkisf{kd izkfIr;k¡ 

74. What is the tenure of temporary members in 
security council of united nations. 
(A)    1 years 
(B)  2 years 
(C)  3 years  
(D)  5 years  

 74. la;qDr jk”Vª lqj{kk ifj”kn ds vLFkk;h lnL; dk dk;Zdky 
fdruk gksrk gS\ 
(A) 1 o”kZ 
(B) 2 o”kZ 
(C) 3 o”kZ  
(D) 5 o”kZ 

75. Which of the following is not a permanent 
member of security council.  
(A)   Australia 
(B) UK 
(C) France 
(D) America 

 75. dkSu lqj{kk ifj”kn dk LFkk;h lnL; ugha gS\ 
(A) vkLVªsfy;k 
(B) ;wds 
(C) Ýkal 
(D) vesfjdk 
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76. What we say the UNO summit on environment 
and development? 
(A)   Air summit  
(B)     Resource summit  
(C) Earth  summit  
(D) Water  summit  

 76. i;kZoj.k vkSj fodkl ij la;qDr jk”Vª lEesyu dks D;k dgrs gSa\ 
(A) ,;j lfeV 
(B) fjlkslZ lfeV 
(C) vFkZ lfeV 
(D) okVj lfeV 

77. Where was the SAARC structured? 
(A) New Delhi 
(B) Dhaka 
(C) Colombo 
(D) Kathmandu 

 77. lkdZ dk xBu dgk¡ gqvk Fkk\ 
(A) ubZ fnYyh 
(B) <kdk 
(C) dksyacks 
(D) dkBekaMw 

78. Which of house meet in Geneva and New York 
both places? 
(A)    Trustee council 
(B)  Security council 
(C)  General House 
(D)  Economics & social council  

 78. fuEu esa ls fdl lnu dh cSBd tsusok o U;w;kdZ nksuksa LFkkuksa 
ij gksrh gS\ 
(A) U;kl ifj”kn 
(B) lqj{kk ifj”kn 
(C) egklHkk 
(D) vkfFkZd o lkekftd ifj”kn 

79. At which place charchil gives the speech on cold 
war:  
(A) London  
(B) Fulton 
(C) Paris 
(D) Berlin  

 79. pfpZy us fdl LFkku ij ‘khr;q) ij Hkk”k.k fn;k Fkk\ 
(A) yUnu 
(B) QqYVu 
(C) isfjl 
(D) cfyZu 

80. When the Cuba missile problem was happened?  
(A)   1959 
(B) 1960 
(C) 1961  
(D)  1962  

 80. D;wck felkby ladV dc gqvk\ 
(A) 1959 
(B) 1960 
(C) 1961 
(D) 1962 

81. Terrorist organisation HAMAS is active in which 
country ? 
(A)   Israel  
(B) Palestine 
(C) Pakistan  
(D) Afganistan 

 81. gekl uked vkradoknh laxBu fdl ns’k esa lfØ; gS\ 
(A) btjkby  
(B) fQfyLrhu 
(C) ikfdLrku 
(D) vQxkfuLrku 

82. Today how many members are in united nations 
organisation- 
(A)   195 
(B) 197 
(C) 193  
(D) 199 

 82. la;qDr jk”Vª dh orZeku lnL; ns’kksa dh la[;k fdruh gS\ 
(A) 195 
(B) 197 
(C) 193 
(D) 199 

83. South -South dialogue is associated with : 
(A)   Co-operation among developing nations   
(B)  Arms conference  
(C)  summit meeting between the developed 

and the developing countries 
(D)  All of the above 

 83. nf{k.k&nf{k.k laokn dk laca/k gS& 
(A) fodkl’khy ns’kksa ds e/; laca/k  
(B) lkefjd lEesyu 
(C) fodflr o fodkl’khy ns’kksa ds e/; f’k[kj lEesyu 
(D) mijksDr lHkh 

84. Name the first general secretary of SAARC  
(A)   Nazim Karim 
(B) Abu- AL- Hassan 
(C) Rafi Nizami 
(D) None of these 

 84. lkdZ ds igys egklfpo dk uke crkb;s& 
(A) ukfte djhe 
(B) vcw&vy&glu 
(C) jQh futkeh 
(D) mijksDr esa ls dksbZ ugha 
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85. Joint the following  
(a) Look east policy (i) Indo-U.S relations 
(b) No first use 

policy 
(ii) Nuclear doctrine of 

India 
(c) BIMSTEC (iv) P.V Narsimha Rao 
(d) Kich leighter 

proposal 
(iv) Regional grouping 

 

Code: (a) (b) (c) (d) 
(A) (ii) (iv) (i) (iv) 
(B) (iv) (iv) (ii) (i) 
(C) (ii) (ii) (iv) (i) 
(D) (ii) (iv) (iv) (i) 

 

 85. fuEufyf[kr dks lqesfyr dhft, %& 
(a) yqd bZLV ikfylh (i) Hkkjr&;w- ,l- laca/k 
(b) uks QLVZ ;wt ikfylh (ii) Hkkjr dh ijek.kq uhfr 
(c) ch-vkbZ-,e-,l-Vh-bZ-lh- (iv) ih-oh- ujflag jko 
(d) fdpysVj izksiksty (iv) {ks=h; lewghdj.k 

 

dwV (a) (b) (c) (d) 
(A) (ii) (iv) (i) (iv) 
(B) (iv) (iv) (ii) (i) 
(C) (ii) (ii) (iv) (i) 
(D) (ii) (iv) (iv) (i) 

 

86. Which of the following is a special agency of 
UNO- 
1. WTO  2.  IMF 
3.  ILO    4.  WHO 
(A) 1, 2, 3  
(B)     2, 3, 4 
(C) 3, 4 
(D) 1, 2, 3, 4  

 86. ;w-,u-vks- dk fof’k”V vfHkdj.k fuEu esa ls dkSu gSA 
1. WTO  2.  
3.  ILO    4.  
(A) 1, 2, 3  
(B)     2, 3, 4 
(C) 3, 4 
(D) 1, 2, 3, 4  

87. Where is the head quarter of ASEAN. 
(A)   Bali 
(B) Jakarta 
(C)  Manila 
(D)    Singapore 

 87. vkfl;ku dk eq[;ky; dgk¡ gS\ 
(A) ckyh 
(B) tdkrkZ 
(C) euhyk 
(D) flaxkiqj 

88. Which proposal offered for the patch up of the 
INDO- CHINA war? 
(A)  Kahira proposal  
(B)     Dhaka proposal  
(C)    Belgrade proposal  
(D) Colombo Proposal 

 88. Hkkjr phu ;q) dks lqy>kus ds fy, dkSu lk izLrko yk;k 
x;k Fkk\ 
(A) dkfgjk izLrko 
(B) <kdk izLrko 
(C) csyxzsM izLrko 
(D) dksyacks izLrko 

89. Where the operation Meghdoot was done by 
India? 
(A)   Kargil 
(B) Shiachen  Glacier  
(C) Rann of Kutch 
(D)  Border of Arunanchal 

 89. Hkkjr }kjk vkijs’ku es?knwr dg¡k pyk;k x;k Fkk\ 
(A) dkjfxy {ks= esa  
(B) fl;kfpu Xysf’k;j esa  
(C) dPN ds j.k esa  
(D) v:.kkapy lhek ij 

90. How many parts of united nations organization 
(A)   9 
(B) 5 
(C) 8  
(D) 6   

 90. la;qDr jk”Vª la?k ds fdrus vax gSa\ 
(A) 9 
(B) 5 
(C) 8 
(D) 6 

91. Which of the following problem has been resolved 
by cam David convention-  
(A)   Problem of Disarmament 
(B) Problem of Racism  
(C) Problem of Environment 
(D) Problem of Terrorism  

 91. fuEufyf[kr esa ls fdl leL;k dks lqy>kus ds fy, dSEi 
MsfoM lEesyu vk;ksftr fd;k x;k Fkk\ 
(A) fu% ‘kL=hdj.k dh leL;k 
(B) jaxHksn dh leL;k 
(C) i;kZoj.k dh leL;k 
(D) vkradokn dh leL;k 

92. Who selects the General Secretary of United 
Nations Organisation- 
(A)   General Assembly 
(B) Security Council 
(C) International Court 
(D) By General house on the recommendation 

of Security Council 

 92. la;qDr jk”Vª la?k ds egklfpo dh fu;qfDr fdlds }kjk dh 
tkrh gS\ 
(A) egklHkk 
(B) lqj{kk ifj”kn 
(C) vUrjkZ”Vªh; U;k;ky; 
(D) lqj{kk ifj”kn dh flQkfj’k ij egklHkk }kjk 
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93. Which following part of the UNO has not 
headquarter in Newyork?  
(A)   International Court 
(B) General House 
(C) Security Council 
(D) Economic and Social Council 

 93. fuEu esa ls UNO ds fdl vax dk eq[;ky; U;w;kdZ esa ugha gS\ 
(A) vUrjkZ”Vªh; U;k;ky; 
(B) egklHkk 
(C) lqj{kk ifj”kn 
(D) vkfFkZd o lkekftd ifj”kn 

94. Which is the official Language of UNO- 
(A)   French and German 
(B) English and French 
(C) English and Spanish 
(D) English and German 

 94. ;w-,u-vks- dh dk;Zdkjh Hkk”kk dkSu lh gS\ 
(A) Ýsap o teZu 
(B) vaxzsth o Ýsap 
(C) vaxzsth o Lisfu’k 
(D) vaxzsth o teZu 

95. Where was the first ASEAN summit organized-  
(A)   Manila 
(B) Singapore 
(C) Bali 
(D) Jakarta 

 95. igyk vkfl;ku f’k[kj lEesyu dgk¡ vk;ksftr fd;k x;k Fkk\ 
(A) euhyk 
(B) flaxkiqj 
(C) ckyh 
(D) tdkrkZ 

96. How many temporary members are in Security 
Council 
(A)   5 
(B) 7 
(C) 10  
(D) 15  

 96. lqj{kk ifj”kn esa fdrus vLFkk;h lnL; gksrs gSa\ 
(A) 5 
(B) 7 
(C) 10 
(D) 15 

97. Whose idea is  that the Collective security is the 
patron of status quo?  
(A)   Walter Lipman 
(B) Benzamin Cohen 
(C) Morganthau 
(D) Mahendra Kumar 

 97. fdldk fopkj gS fd lkewfgd lqj{kk ;FkkfLFkfr dh laj{kd gS\ 
(A) okYVj fyieSu 
(B) cSatkfeu dksgu 
(C) ekjxsaUFkkÅ 
(D) egsUnz dqekj 

98. Who is the writer of the book “Contemorary 
theory in International Relations”. 
(A)   Raffel  
(B) Stalley Haltman 
(C) Manning   
(D) George Liska 

 98. ^^daVsEiksjsjh F;ksjh bu bUVjus’kuy fjys’kUl** uked iqLrd ds 
ys[kd dkSu gSa\ 
(A) jQsy 
(B) LVSys gkQeSu 
(C) eSfuax 
(D) tktZ fyLdk 

99. Who has not determined the balance of power in 
the context of International system. 
(A)   Charles Worth 
(B) Tellor 
(C) Martin Knight 
(D) Morganthau 

 99. fdlus ‘kfDr larqyu dks vUrjkZ”Vªh; iz.kkyh ds lanHkZ esa ugh 
ns[kk gS\ 
(A) pkYlZ oFkZ 
(B) Vsyj 
(C) ekfVZu ukbV 
(D) ekjxsUFkkÅ 

100
. 

Who is the propounder of Bargaining theory? 
(A)   John C. Harsony 
(B) Tomas Shelling 
(C) Both  
(D) None of these 

 100
. 

lkSnsckth ds fl)kUr dk izfriknd gS& 
(A) tkWu lh gkjlksuh 
(B) Vkel ‘ksfyax 
(C) nksuksa 
(D) dksbZ ugha 

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for the 

error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems correct 

to you, darken that option number in your Answer Booklet (O.M.R 

ANSWER SHEET) completely with black or blue ball point pen. If any 

examinee will mark more than one answer of a particular question, then 

the first most option will be considered valid.    

3. Every question has same  marks. Every question you attempt correctly, marks 

will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R ANSWER 

SHEET). Answer marked anywhere else other than the determined place will 

not be considered valid. 

5. Please read all the instructions carefully before attempting anything on Answer 

Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the examination 

room.   

7. There is no negative marking. 

Note:  On opening the question booklet, first check that all the pages of the question 

booklet are printed properly in case there is an issue please ask the examiner to 

change the booklet of same series and get another one.  

 


